Division par 1 000 (B)

Trouvez chaque quotient.

4,6 +1000 = 7,68 +~1000 =
7,378 =1 000 = 9,246 +- 1000 =
3,598 -1 000 = 3,812 -1 000 =
529 +1000= 5,654 +-1000=
3,605+ 1000 = 2,6 +-1000=
4,657 -1 000 = 2,7024 -1 000 =
6,6577 -1 000 = 2,4+-1000=
2,643 +-1000= 1,6 =1000 =

7,9 +-1000= 8,23 +1000=
6,7 +1000= 6,3857 +- 1000 =
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Division par 1 000 (B) Solutions

Trouvez chaque quotient.

4,6 +1000= 10,0046

7,378 =1 000 =0,007378

3,598 ~-1000=0,003598

5,29 +-1000=0,00529

3,605+ 1000 =0,003605

4,657 +-1000=0,004657

6,6577 -1 000 =0,0066577

2,643 +-1000=0,002643

7,9 +1000=0,0079

6,7 +1000=0,0067

7,68 ~1000=0,00768

9,246 = 1000 = 0,009246

3,812 +1000=0,003812

5,654 +-1000=0,005654

2,6 -1000=0,0026

2,7024 +-1000=0,0027024

2,4+1000=0,0024

1,6 +-1000=0,0016

8,23 +1000=0,00823

6,3857 -1 000 =0,0063857
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